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ljlgof]lht /sd ?= 

 

! k"jf{wf/ ljsf; h};LufpFm, #'DtLx'+b}, k'%f/v]t, u}/Ljf/L 
df]=jf= dd{t 

300000.— 

@ k"jf{wf/ ljsf; v*\s%fk, ;]Nu'gyfg, lxn]e~ofË ko{^sLo 
df]=jf= dd{t 

1000000.— 

# k"jf{wf/ ljsf; dflyNnf] uf}?y'Dsf ;fd'bflos ejg dd{t 150000.— 

$ k"jf{wf/ ljsf; afF´f]v]t, d?jfkmFf^ s[lif ;*s dd{t 150000.— 

% k"jf{wf/ ljsf; ldn*f+*f, ltln^f]n, dh'jf df]=jf= dd{t 300000.— 

^ k"jf{wf/ ljsf; *f+*fyf]s, x}a'Ë lrxfg kf^L lgdf{)f 200000.— 

& k"jf{wf/ ljsf; sfpn] bf]efg, *f+*fyf]s j*f sfof{no x'b} 
lzjk'/L df]=jf= dd{t 

700000.— 

* k"jf{wf/ ljsf; af]a|fË tNnf]^f]n gx/ lgdf{)f 150000.— 

( k"jf{wf/ ljsf; tNn] af]a|Ë, dh'jf x'b} pn]{gL df]=jf= lgdf{)f 206000.— 

!) k"jf{wf/ ljsf; lr;fkfgL, pn]{lg, tNnf] bxkf]v/L, 
lrnfpg] df]=jf= dd{t 

300000.— 

!! k"jf{wf/ ljsf; tNnf] bxkf]v/L ;fd'bflos ejg lgdf{)f 300000.— 

!@ k"jf{wf/ ljsf; j*f sfof{no xF'b} kf^L e~ofË d'n ;*s 
dd{t 

500000.— 

!# k"jf{wf/ ljsf; k'%f/^f]n, $f/]^f]n, dh'jf df]=jf= dd{t 200000.— 



 

 

  

!$ ;fdflhs ljsf; sflnsf b]jL d+lGb/ Joj:yfkg -dd{t 
;'wf/_ 

300000.— 

!% ;fdflhs ljsf; nf]s]Zj/L dxfb]j d+lGb/ Joj:yfkg -dd{t 
;'wf/_ 

200000.— 

!^ ;fdflhs ljsf; rf]xf]/f]n u'Daf^f]n vfg]kfgL of]hgf 300000.— 

!& ;fdflhs ljsf; agb]pm vfg]kfgL of]hgf -dd{t ;'wf/_ 100000 

                          hDdf ?= 5356000.— 


